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m g Dimentions (mm) Bearing No
Unit No d di B dz B2 | B3 | WM ik
H 3024 120 110 1 145 22 - 23024 k
H 3026 130 115 A0 155 3 - 23026 k
H 3028 140 125 B2 165 24 i 23028 k
H 3030 150 135 BT 120 26 - 23030 k
H 3032 160 140 93 190 28 = 23032 k
H 3034 170 150 101 200 29 - 23034 k
H 3036 180 160 109 210 30 - 23036 k
H 3038 190 170 112 220 3 - 23038k
H 3040 200 180 120 240 32 - 23040 k
H 3044 220 200 126 260 - 41 23044 &
H 3048 240 220 133 290 -- 46 23048 K
H 3052 260 240 145 310 - 46 23052 K
H 3056 280 260 152 330 = 50 23056 K
H 3060 300 280 168 360 - 54 23060 K
H 3064 320 0 171 380 - 53 23064 K
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it e d a1 B a2 B2 | B3 | MOB Rk
H 3924 120 110 60 145 22 - -
H 3926 130 115 B3 155 23 -- -
H 3028 140 125 b 165 24 - -
H 3930 150 135 Th 180 26 - -
H 3932 160 140 78 190 28 - -
H 3034 o | 150 | 79 | 200 29 2 3
H 3936 180 160 a7 210 30 - -
H 3938 190 170 429 2 31 - -
H 3040 200 180 ) 240 a2 - -
H 3944 220 200 151 260 - 41 3044 K
H 3048 240 220 101 200 - 46 23048 K
H 3052 %0 | 240 116 | 310 = 46 23952 K
H 3956 280 260 121 330 - 50 23956 K
H 3060 300 | 280 140 | 360 = 54 23960 K
H 3964 320 300 140 380 - 55 23064 K
H 3068 M0 | 3 144 | 400 = 58 23968 K
H 3972 360 340 144 420 - 58 23972 K
H 3976 3|0 | 360 164 | 450 = 62 23976 K
H 3980 400 380 168 470 - Bb 23980 K
H 3084 420 | 400 | 168 | 490 m 66 23084 K
H 2088 a0 | 40 | 189 | s 5. 7 23088 K
H 3002 40 | 40 | 189 | 540 m 77 23902 K
H 209 a0 | 40 | 200 | 560 5. i 23996 K
H 30/500 500 | 470 | 208 | 580 m 85 | 239/500K
H.39/530 53 | so0 | 216 | 630 3 00 | 239/530K
H 30,560 560 | sa0 | 227 | 650 m o7 238/560 K
H.39/600 600 | se0 | 230 | 700 3 97 | 239/600K
H 30/630 630 | 600 | 254 | 730 m o7 238/630 K
H39/670 60 | 630 | o264 | 70 3 02 | 239/670K
H 30,710 70 | 6 | 286 | 830 m 112 | 239/T10K
H39/750 70 | mo | o | sm0 3 12 | 230/750K
H 30/800 800 | 750 | 303 | 920 m 112 | 239/800 K
H.39/850 80 | so0 | 308 | 980 3 115 | 230/850K
H 30/900 000 | 8s0 | a6 | 1030 | - 125 | 239/900K
H39/950 90 | oo0 | e | 1080 | - 125 | 239950k
H 30/1000 000 | 950 | a8 | 140 | - 125 | 239/1000K
H.39/1060 w060 | 1000 | am | 10| - 125 | 239/1060 K
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